CFHIANTO

HEEEREELRE

EE

N[BT

—

EREes

SH3L

BrE=

RMIIIE

SA 29| X

| |
EXTTEmEYS
[

SA
BEnEEny

SD
CIE:ES

3 60.01

1

w P

b

5

wh

. SA RIIFEBBITIE

1mm PARIZLE -
BREEESF RN SRR -

RLUBE -

. RECRFHEREEREER

WETMICEEREEE

BxY

s {TIEREER -

EEDHRE

M B LA ERAEE

ik 5 l E)=ES
I PUE /
e |
| SA/SD sumEEs| | /
R ] il
% I SEHEE
S 1ERE / B
// \\
TBRITIE
N ESiR
DB B AR E R BT £ N G R R E
25| — 1 NC SC
1 1 1
| 72 | B | E#
[ [
1| ERRER o | RTEZEE | |22 EF IR
2 | EARDE NC| ZrmziEmE | |sc| BiELILIRE
3 | EARERE
X AIRHSDARS -




B R ) B & & 28

HYDRAULIC SHOCK ABSORBER

HBEERSEAN

Ex(Nm): BhgE

Eo(Nm): BESHEEE

EriNm): {2SHEE

ErciNm): S/)\IFHRRES

F(N): #£5&7J=0.00785 Pd®
Fm(N): R KEIEE]=1.2ET/S (#E)
glm/s®): ENNEE

L EERIREL

6 (rad).ZiEEBARRNEAEE
@ (rad/s):BRE

We(kg): BEEE

CHP: B/ NIFZERE

m EERERAEG

dimm): RELARE
him): 2E

HM: fSEHIENRE=2.5
m(kg): IBENMIREESE
P(bar): {EENE7]
R(m): &

S(m): SHEZEE=SRTE
T(Nm): BEENIEA]
tlsec): BHRMEFRE
Vim/s): EEERE
KWikw): EENBENE

Rs(m): SHEE @SS = edEctLavEssE

[m
F— V— S s ?[
Vel \ v o] ain\ 4
2 2
EhaE Ex _mxVE mxV mxgxh
2 2
T{FeEE Eo FxS 0 mXxgxs
BEEE=E Er Ex+Eb Exk+Eb Ex+Eb
BIEFHEEEE Erc Erx C Erx C Erx C
2 xE 2 xE
BHERE We — m e
BEREERE \Y; - - v 2xgxh
OER SC2540 ; SD3650 SC1415-1 ; SD4250 SC2580-1 ; SA3660
2
2
Ehie Ex m);V 0.25XmXV12
TiEseE £ 1 OOOXKW)\(/H MXSTXS MXSXSinBXg [Tg:,]
RESEEE Er Ex+Eb Ex+Eb Ex+Eo
B/\FREEE Erc Erx C Et x C ETx C
e 2 x Er 2 x Er 2 x Er
BUEEE We v v —F
(VTxRs)
BEEERERE \Y - v 2gxLxSinf “Rr
o3& SC3660-2 ; SD4275 SC2540-1 ; SD4275 SC3660-3 ; SD4250

'3 60.02




VA
CHANTO

ﬂﬁg?ﬁ‘

) SA0806-NC

) SA0806
M8X1.0P & B=11 - M8X1.0P ¥ B=11 ©
C=12.8) ai C=12.8) ai
. Q - - EL
[ | jﬂ U [ T
©
s g s
5 33 6._6 5 33 6|
50
B/)\FFIRUNEES
Nm
SA0806-1 6 2 0.5 2.0 8800 -10~+80
SA0806-2 6 2 2.0 1.0 8800 -10~+80
SA0806-3 6 2 6.0 0.5 8800 -10~+80
) SA1005 ) SA1005-NC
M10X1.0P $ig B=127 M10X1.0P $ig B=12.7
(C=145) - (C=145) -
- g a8
L] jﬂ\ J . 7% H:f
el : Ll
4.8 22.9 5|6 4.8 22.9 5
38.7
i INEIRINEES
Y4 Nm
SA1005-1 5 3 1 3 10800 -10~+80
SA1005-2 5 3 3 1.5 10800 -10~+80
SA1005-3 5 3 7 0.8 10800 -10~+80
) SA1008 ) SA1008-NC
M10X1.0P 8 B=12.7 M10X1.0P #i8 B=12.7
(C=14.5) (C=14.5)
- =5 | —
L] w s L]
3 s 3 a_ s
5 38 8_|_6 5 38 8
57
EREERE | §/)\HRINEE
m/s Nm
SA1008-1 8 4 2 3.0 15200 -10~+80
SA1008-2 8 4 4 1.5 15200 -10~+80
SA1008-3 8 4 9 0.8 15200 -10~+80

'3 60.03



B R ) B & & 28

HYDRAULIC SHOCK ABSORBER

AERYE

) SA1416 ) SA1416-NC
M14X1.5P #2 B=19 M14X1.5P #1i2 B=19
lm (C=21.8) 3 (m (C=21.8) 3
| i =
| — (3 J
5 8 5
9 86 16 _|14.3 .9 86 16|
125.3

BARARWBEE| SEABVNEE | GREERE | 3/ BERIES

Nm We(kg) m/s Nm
SA1416-1 16 20 10 3.0 35000 -10~+80
SA1416-2 16 20 70 1.5 35000 -10~+80
SA1416-3 16 20 150 0.8 35000 -10~+80
) SA2020 ) SA2020-NC
#32 B=26 M20X1.5P 12 B=26 M20X1.5P
© (C=29.7) 0 (C=28.7)
© [
5 [
101 5 101 5l
18 |_ 20 110 - 20 110
148

BARARNEE BABYEE | RREBEE | 3/ HRINEE

Nm We(kg) m/s
SA2020-1 20 40 30 3.5 42000 -10~+80
SA2020-2 20 40 200 2.0 42000 -10~+80
SA2020-3 20 40 700 1.0 42000 -10~+80
) SA2030 ) SA2030-NC
#52 B=26 M20X1.5P #1iZ B=26 M20X1.5P
S (C=29.7) S (C=29.7)
® [
E [
101 8 101 18l
18 30 110 30 110
158

BARARNEE BRABNEE | REERRE | 5/ BRINEE

Nm We(kg) Nm
SA2030-1 30 50 30 3.5 48000 -10~+80
SA2030-2 30 50 200 2.0 48000 -10~+80
SA2030-3 30 50 700 1.0 48000 -10~+80




VA
CHANTO

HERY®

) SA2050

26

#1382 B=26
(C=29.7)

M20X1.5P

158

18 50

167

235

BARARNEE| ABUNEE | aEERE | B)\FHRIEEE
Nm We(kg) m/s Nm
SA2050-1 50 60 60 3.5 60000 -10~+80
SA2050-2 50 60 400 2.0 60000 -10~+80
SA2050-3 50 60 1200 1.0 60000 -10~+80
) SA2540
M25X1.5P #52 B=32
(C=36.7) o
1 \ TN
= [y
o
10 10 g
127 40 36

213

BARARBEE| RABUES I\ EIREES
Nm We(kg) Nm
SA2540-1 40 120 300 4.0 75000 -10~+80
SA2540-2 40 120 1200 2.5 75000 -10~+80
SA2540-3 40 120 2000 1.0 75000 -10~+80
) SA3660
M3BX1.5P Y8 B=46 5
(C=53) <
= 1N
)
15 o
I 8
134 17 60 26

248

BARARMEEE| RABUEE BIEFIRWEEE ERIRE

Nm We(kg) Nm
SA3660-1 60 250 400 4.0 120000 -10~+80
SA3660-2 60 250 1500 2.5 120000 -10~+80
SA3660-3 60 250 2400 1.0 120000 -10~+80

'3 60.05



B R ) B & & 28

HYDRAULIC SHOCK ABSORBER

Mﬁ%‘

J SD1410 J SD1410-NC
12 B=19 M14X1.5P
3 (C=21.8) 18 B=19 M14X1.5P
T (C=21.8)
o
 — [
72.5 5
14.3 10 88.5 725 _sl
112.8 10 88.5

RABUESE
We(kg)
SD1410 10 20 80 | 3.0 | 25000 | -10~+80
) SD2016 \ ) SD2016-NC
© 12 B=26 M20X1.5P
o (C=29.7) #1i2 B=26 M20X1.5P
< (C=29.7)
o]
s
[
[
101 Jﬂl«
18 16 117 101 JﬁL
151 | 16 117

BREARBEE| FABNES
Nm We(kg) m
SD2016 16 25 200 | 3.5 | 30000 | -10~+80
) SD2525 ) SD2525-NC
© 2 B=32 M25X1.5P
| (C=36.7) #1i8 B=32 M25X1.5P
< (C=36.7)
QY]
[aV]
I
[
[
101 ol
19.5| 25 118.5 101 ol
163 | 25 118.5

BURARINEES

BRABUEE

SD2525

29

Nm
85

We(kg)

400 | 3.5 | 54000 | -10~+80

'3 60.06



VA
CHANTO

::ﬂ;EEEzrsﬁ:
) SD2540
M25X1.5P #1i2 B=32
(C=36.7) @
] I
J | [l
N
10 10 S
127 40 36
220.5

BREAIRMIEE
SD2540 | 40 100 700 35 | 80000
) SD3650
M36X1.5P #1,8 B=46 o
(C=53) <
Q
— e
| ] 1)
o
15 3
= Q
134 17 50 25.8
246.8

SD3650 | 50 | 300

BRABHEE

We(kg)




B OGR)BE &8

HYDRAULIC SHOCK ABSORBER

WE??E:

) SD4225/SD4250/SD4275

BARARWEE| RABHEE | RREBRRE | 8/ \HRREESE
Nm We(kg) m/s Nm
SD4225 25 260 3000 3.5 125000 -10~+80
SD4250 50 500 4000 4.5 150000 -10~+80
SD4275 75 750 6000 4.5 180000 -10~+80
BN H
a)
Q
] [] m o
] T il
inilf
F ‘ G
B 77z E
A

R | BEAE

17 (mm) ‘ .\

SD4225 | M42X1.5 25 186.4 | 127.5 44.5 12 3319 88 28.5 50 15
SD4250 | M42X1.5 50 240.9 157 44.5 12 33.9 117.5 285 50 15
SD4275 | M42X1.5 75 301.4 | 187.5 44.5 12 8819 148 28.5 50 15




VA

CHANTO

_RTAE

-

&= - 68

= &

x 3 P R 7 = e 4
\ [
SA AN SEEER ||| EIIZIE
ES BN ER REIER sc| A= LLi21g
S| BXIER
SN #®EXiEGR
SERY®
) SA0806-AN ) SA0806-SN ) SA0806S
M8X1.0P %3 B=11 o M8X1.0P  ¥1i£ B=11 o M8X1.0P  ¥1i2 B=11
[C=12.8],/ o (C=12.8) o (C=12.8)
Q| Q

@2.8

BEABVNEE | EaESXRE | SSRGS
We(kg) Nm
SA0806-AN 6 3 6.0 0.3~2.5 7000 -10~+80
SA0806S 6 3 6.0 0.3~2.5 7000 -10~+80
SA0806-SN 6 3 6.0 0.3~2.5 7000 -10~+80
) SA1007-AN ) SA1007-SN
$58 B=12.7 M10X1.0P $18 B=12.7 M10X1.0P
i (C=14.5) EL (C=14.5)
gt = gt =
3 39 JQL 3 39 JQL
7 47 7 47
) SA1007S
$58 B=12.7 M10X1.0P
i (C=14.5)
o 3 39 Bl
8 e |7 47
62.6
BARARNESZ| RABIE= BI\FRIEES
Nm We(kg) Nm
SA1007-AN 7 6 12 0.3~3.5 12400 -10~+80
SA1007S 7 6 12 0.3~3.5 12400 -10~+80
SA1007-SN 7 6 12 0.3~3.5 12400 -10~+80

'3 60.09



B R E & & 28

SA/SD %5l
HYDRAULIC SHOCK ABSORBER

EE?&E:

) SA1210S ) SA1210-SN
#58 B=14 M12X1.0P #58 B=14 M12X1.0P
2 (C=18) o (C=18)
o | -
g 45.5 el 45.5 _al_
© 8.4 | 10 50 10 50
68.4

BABRARNEE| BRABENEE | RREBRE | 3/ \FIRITEE

Nm We(kg) m/s Nm
SA1210S 10 12 22 0.3~4.0 22500 -10~+80
SA1412-SN 10 12 22 0.3~4.0 22500 -10~+80
) SA1412-AN ) SA1412-SN
#12 B=19 M14X1.5P 5 #152 B=19 M14X1.5P 5,
S| (€=21.8 S (€=21.8) ‘
4 58 4 58
12 67 12 67
) SA1412S
¥ B=19 5 M14X1.5P
5 (C=21.6) /
N _ £
8 L ]
4 58
11_|_12 67
90

BRRARKEESE RoEEERE | B/)\IFIRIEEE
Nm m/s Nm
SA1412-AN 12 20 40 0.3~5.0 33000 -10~+80
SA1412S 12 20 40 0.3~5.0 33000 -10~+80
SA1412-SN 12 20 40 0.3~5.0 33000 -10~+80




VA

CHANTO

AERYR

) SA2015-AN

¥132 B=26
(C=28.7)

M20X1.

62

73

BRURARIEEE

M20X1.5P

) SA2015S
12 B=26
5p (C=29.7)
g /.
§ | —
4 62
15 15 73
103

BRABYUEE

RoEEERE | B/)\SIRIEEE FHRRE
Nm We(kg) m/s Nm °c
SA2015-AN 15 59 120 0.3~5.0 38000 -10~+80
SA2015S 15 59 120 0.3~5.0 38000 -10~+80
) SA2525S ) SA2525-SN
$#18 B=32 M25X1.5P 32 B=32 M25X1.5P
o (C=36.7) © (C=36.7)
o) o)
8 |
82 .10 82 _ o
18.8|_ 25 92 25 92
135.8

BARARWEESE| RXBUE=S BI\FIRINEES ERRE
Nm We(kg) Nm
SA2525S 25 80 180 0.3~5.0 60000 -10~+80
SA2525-AN 25 80 180 0.3~5.0 60000 -10~+80
) SA2725-AN ) SA2725-SN
2 B=32 M27X1.5P 6.5 12 B=32 M27X1.5P | 6.5
0 (C=36.7) / © (C=36.7) / ‘
Q L Q
——
| | ]
5 86 - ! 5 86 !
25 111 25 111
136 136
) SA2725S
#i2 B=32 M27X1.5P 6.5
© (C=36.7)
Q / -
N
Q ;L
5 86 ” ‘
18.8 25 99 ‘
142.8




B R ) B & & 28

HYDRAULIC SHOCK ABSORBER

BREXREEE RoEEERE | B/\ISIRIEEE
Nm m/s Nm
SA2725-AN 25 147 270 0.3~5.0 72000 -10~+80
SA2725S 25 147 270 0.3~5.0 72000 -10~+80
SA2725-SN 25 147 270 0.3~5.0 72000 -10~+80
7 15 1E U2 18 & FH B o~
RIS AR ZIETIE
1EEss
} V
(] ] ]
] == W ]
EIE1EIRE
=Y/
ede Ll Figik

gic&LZ gicg2
1B B2 RS B EiSeiRg
SA2020
) scos SA0806 Jsca2o0 [ | 1 sa2050
‘ - SD2016
. = ] [ SA2525
sc10 C VK SA1008 scas ( & gl ¥ SD2525
I TN o e 1| SA2540
sc12 ‘ SA1210 )ScasL (8 T8 1| spoeao
14 20 32 66
o o I SA1415 . . — SA3660
) Ssc14 ‘ s TR SD1410 ) SC36 ‘ /B I SD3650

'3 60.12




